


KSL is a modern Ukrainian factory. Our specialty
- mounting solutions for Digital Signage industry.

The history of KSL began in 2009. Since then we have designed and manufactured numerous
professional solutions for different Digital Signage projects.
Our partners know that we solve the hardest tasks.

In-house manufacturing facilities allow us to control 100% of operations. Our R&D department
regularly rolls out new models as well as improves the existing model line.

Our Quality Control lab extensively tests each new product before it enters mass production. Each
batch of finished products undergoes quality testing before it leaves the factory. We only use
materials that meet international standards. This is the way

= " we guarantee consistent high quality of our products.




~l(SL

TABLE OF CONTENTS

EASY INSTALLATION

r

2\




~l(SL

SYMBOLS

VESA (MIN - MAX) < \ TILT ANGLE
@

DIAGONAL

MAXIMUM WEIGHT LOAD l ’j TURN

THE DISTANCE FROM THE (D)
WALL

N B

D

l

RETAIL BOX 25 YEARS
MANUFACTURER’S
WARRANTY!

4 www.ksl.ua



@ ©®
A=.|(S|_ FIXED TV WALL MOUNTS

WHAT YOU NEED TO KNOW TO CHOOSE THE
RIGHT TV MOUNT

S,

/ B VESA (min-max)  75x75 - 200x200

Diagonal 19-43"

Maximum weight load (kg) 25
Your TV's diagonal

- ||— The distance from the wall (mm) 29

\

100
200

100

\

Your TV's weight

hm/mm MOUNTING KIT

FOR MOUNTING TO THE TV:
Screw M4x12 - 4 pcs.
Screw M6x30 - 4 pcs.
Screw MB8x45 - 4 pcs.

The distance between the mounting Washer M increased- 4 pcs.

holes on the your TV Plastic adapter - 8 pcs.

FOR MOUNTING TO THE WALL:
—— Dowel 10x50 - 4 pcs.
Screw 6x60 - 4 pcs.
© Washer M8 - 4 pcs.




FIXED TV WALL MOUNTS “i=.I(S.L®
|

WMO0-6240P WMO0-8260P

@ VESA (min-max)  200x200 - 400x400 @8 VESA (min - max) 200x200 - 600x400

Diagonal 32-65" Diagonal 40-82"

Maximum weight load (kg) 30 Maximum weight load (kg) 50

—||— The distance from the wall (mm) 29 -||— The distance from the wall (mm) 29
////

400

100

o)
i MOUNTING KIT

FOR MOUNTING TOTHETV: ~ FOR MOUNTING TO THE WALL:
Screw M6x30 - 4 pcs. ~ Dowel 10x50 - 8 pcs.
Screw M8x20 - 4pcs. - > Screw 6x60 - 8 pes.
Screw M8x45 - 4pcs. (©) Washer M8 - 8 pcs.
Plastic adapter - 8 pcs.

i MOUNTING KIT

FOR MOUNTING TO THE TV:
Screw M6x30 - 4 pcs.
Screw M8x20 - 4 pcs.
Screw M8x45 - 4 pcs.

Plastic adapter - 8 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10x50 - 8 pcs.
Screw 6x60 - 8 pcs.
Washer M8 - 8 pcs.

YYY TN
4+ 4+ o4
St R
4+ o+ 4

4+ o+ >4
A 4 & o4 o 4




“-‘I.l(s.L@ TILT TV WALL MOUNTS

@ VESA (min-max)  75x75 - 100x100

) Diagonal 13-28"
BB VESA (min - max) 200x200 - 1000x400 )
Maximum weight load (k 15
Diagonal >50" ) )
Maximum weight load (kg) 100 —||— The distance from the wall (mm) 50
/\ Tiltangle 0°-15°

—||— The distance from the wall (mm) 40

75
100

115

. Q
0 /"</I£)Z\O)
4 -

291

O
P MOUNTING KIT
FOR MOUNTING TO THETV: ~ FOR MOUNTING TO THE WALL:

O { Screw Méx12 - 4pcs. Dowel 10x50 - 3 pcs.

s MOUNTING KIT (8 Screw Méx12 - hpcs. - mScrew 6x60 - 3 pes.

FOR MOUNTING TOTHETV:  FOR MOUNTING TO THE WALL: &) Washer M8 - 3 pcs.
Screw M6x30 - 4pcs. - Dowel 12x80 - 8 pcs.
Screw M8x20 - 4pcs. . 7 Screw 8x80 - 8 pcs.
Screw M8x45 - 4 pes. (©) Washer M8 - 8 pcs.

Plastic adapter - 8 pcs.

i
B

rY - v vy
R o 2
booesod
SRR IR A
(R o 2
A 4 4o 4o A A A




TILT TV WALL MOUNTS

WMB-4021N

B VESA (min - max)

Diagonal

100x100 - 200x200
19-43"

Maximum weight load (kg) 25

- || — The distance from the wall (mm) 52

/\ Tiltangle

-5°/+15°

200

s MOUNTING KIT

FOR MOUNTING TO THE TV:
Screw M4x12 - 4 pcs. -
Screw M6x30 - 4 pcs. -
Screw M8x45 - 4 pcs.
Washer M4 increased - 4 pcs.
Plastic adapter - 8 pcs.

Wi
.

FOR MOUNTING TO THE WALL:
Dowel 10x50 - 3 pcs.
O »Screw 6x60 - 3 pcs.

(©)  Washer M8 - 3 pcs.

m VESA (min - max)

Diagonal

75x75 - 200x200

Maximum weight load (kg)

_||_ The distance from the wall (mm) 60

{\ Tilt angle

R

100

o
Jmuii MOUNTING KIT

FOR MOUNTING TO THE TV:
Screw M4x12 - 4 pcs.
Screw Mé6x30 - 4 pcs.
Screw MB8x45 - 4 pcs.

(©  Washer M4 increased - 4 pcs.

: Plastic adapter - 8 pcs.

FOR MOUNTING TO THE WALL:
> Dowel 10x50 - 4 pcs.

> Screw 6x60 - 4 pcs.
(©)  Washer M8 - 4 pcs.

\ &ﬁ
\ %r,
i
’

19-43"
25

-5°/+15°

y¥ v~ v >N

4+ 4+ o4

St R

4 4+ + 4

4+ +++ 4
A 4 & 4 o 4




“il.l(S.L(@ TILT TV WALL MOUNTS

WMO0-6241N WMO0-6341N

<) )

[ VESA (min-max) 200x200 - 400x400 @ VESA (min - max) 100x100 - 400x400
Diagonal 32-65" Diagonal 32-65"
Maximum weight load (kg) 30 Maximum weight load (kg) 40
_||_ The distance from the wall (mm) 60 _||_ The distance from the wall (mm) 28
f\ Tilt angle -5°/+15° {\ Tilt angle 0°-15°

Enl

:D —

&;

ok

o // 3

O
Bmuiii MOUNTING KIT

FOR MOUNTING TO THETV:  FOR MOUNTING TO THE WALL:

Screw Méx16 - 4pcs. -~ Dowel 10x50 - 3 pcs.
Screw M8x16 - 4 pcs. #7777 Screw 6x50 - 3 pes.
Screw M8x25 - 4 pcs. (©) Washer M8 - 3 pcs.

o
Jmssi MOUNTING KIT

FOR MOUNTING TO THE TV:
Screw M6x30 - 4 pcs.
Screw M8x20 - 4 pcs.
Screw M8x45 - 4 pcs.
Plastic adapter - 8 pcs.

FOR MOUNTING TO THE WALL:
=== Dowel 10x50 - 8 pcs.
Screw 6x60 - 8 pcs.
Washer M8 - 8 pcs.

rY - v vy
R R
booesod
SRR IR A
R 2 o o
A 4 4o 4o A A A




TILT TV WALL MOUNTS

m VESA (min - max) 200x200 - 400x400

WMO0-8261N

m VESA (min - max) 200x200 - 600x400

Diagonal 32-65" Diagonal 40-82"
Maximum weight load (kg) 50 Maximum weight load (kg) 50
_||_ The distance from the wall (mm) 76 ﬁ||_ The distance from the wall (mm) 60
{\ Tilt angle 0°-15° {\ Tilt angle -5°/+15°
g 8 S
ZQQ.,-,AQQ//
iz MOUNTING KIT Jmi MOUNTING KIT

FOR MOUNTING TO THETV: ~ FOR MOUNTING TO THE WALL:
Screw Méx16-4pes. — = Dowel 10x50 - 6 pcs.
Screw M8x16-4pes. . Screw 6x60 - 6 pcs.
Screw M8x25 - 4 pcs. © Washer M8 - 6 pcs.

FOR MOUNTING TO THETV: ~ FOR MOUNTING TO THE WALL:

Screw M6x30 - 4 pcs. - ~ Dowel 10x50 - 8 pcs.
Screw M8x20 - 4pcs. e Screw 6x60 - 8 pes.
Screw M8x45 - 4pcs. (©) Washer M8 - 8 pcs.
Plastic adapter - 8 pcs.

-—
||
o=

YYvY YT
4+ 4+ o4
St R
4+ o+ 4
4+ +++ 4
A 4 & 4 o 4




y- I(SL TILT TV WALL MOUNTS
IR

@ VESA (min - max) 200x200 - 600x400 [ VESA (min - max) 200x200 - 1000x400
Diagonal 40-86" Diagonal >50"
Maximum weight load (kg) 60 Maximum weight load (kg) 100
_ || _ The distance from the wall (mm) 76 - ||— The distance from the wall (mm) 85
& Tilt angle 0°-15° a Tilt angle 0°-15°

291

s MOUNTING KIT FW%W/W‘ MOUNTING KIT
FOR MOUNTING TO THE TV: FOR MOUNTING TO THE WALL: FOR MOUNTING TO THETV: ~ FOR MOUNTING TO THE WALL:
Screw M6x30-4pcs. -~~~ Dowel 10x50 - 8 pes. | v Screw Méx30 - 4 pcs. ~ Dowel 12x80 - 8 pcs.
ScrewM8x20 - 4pcs. - mScrew 6x60 - 8 pcs. | | Screw M8x20 - 4pcs. . 7" Screw 8x80 - 8 ps.
Screw M8x45 - 4pcs. (©) Washer M8 - 8 pcs. | »  Screw M8x45 - 4pcs. (©) Washer M8 - 8 pcs.
Plastic adapter - 8 pcs. Plastic adapter - 8 pcs.

: R
Iy T

rY - v vw
R o 2
booesod
TR SR =
(R o 2
A 4 4o 4o A A A




ARTICULATING TV WALL MOUNTS

WMB-3012T

m VESA (min - max) 75x75 - 100x100

Diagonal
Maximum weight load (kg) 15

_ ||_ The distance from the wall (mm) 65

& Tilt angle

13-28"

-5°/+15°

WMO0-3013T

i

plastic

m VESA (min - max)

Diagonal
Maximum weight load (kg) 15
_||_ The distance from the wall (mm) 65-255

& Tilt angle

75x75 - 100x100
13-28"

-5°/+15°

F)

cable management

~l(SL

decorated with

180°/180°

:9 Turn 60°

@ Turn

%0

130
161

FMWWI MOUNTING KIT

FOR MOUNTING TOTHETV: ~ FOR MOUNTING TO THE WALL:
Screw M&x12-4pcs. =~ Dowel 10x50 - 3 pcs. o
Screw Méx12 - 4pcs. . 57 Screw 6x60 - 3 pes. Jium MOUNTING KIT

(©) Washer M8 - 3 pcs.
p Plastic stub M6 - 3 pcs.

Allen key - 1 pcs. :

K

FOR MOUNTING TO THE TV:
Screw M&x12 - 4 pes.
Screw Méx12 - 4 pcs.

Allen key - 1 pes.

—

FOR MOUNTING TO THE WALL:

— =~ Dowel 10x50 - 3 pcs.
7 Screw 6x60 - 3 pcs.

(©) Washer M8 - 3 pcs.




~l(SL

WMO0-3014T

m VESA (min - max)

Diagonal

ARTICULATING TV WALL MOUNTS

decorated with
plastic

P

cable management

75x75 - 100x100
13-28"

Maximum weight load (kg) 15
_||_ The distance from the wall (mm) 65-405

a Tilt angle
‘Q’ Turn

-5°/+15°
180°/360°/180°

[

mwn MOUNTING KIT

=

T

FOR MOUNTING TO THE TV:
Screw M4x12 - 4 pcs.
Screw M6x12 - 4 pcs.

K Allen key - 1 pcs.

FOR MOUNTING TO THE WALL:

Dowel 10x50 - 3 pcs.
577 Screw 6x60 - 3 pes.
(©) Washer M8 - 3 pcs.

rv~vvvy
R 2 o

(IR S = =

SRR R R

[ o

A 4 4 4A A A 4

WMB-4022T

@ VESA (min - max)
Diagonal
Maximum weight

100x100 - 200x200

load (kg)

19-43"
25

_ ||_ The distance from the wall (mm) 67

a Tilt angle
‘Q’ Turn

-5°/+15°
40°
O
i MOUNTING KIT

FOR MOUNTING TO THE TV:
Screw Mé4x12 - 4 pcs.

© Washer M4 increased - 4 pcs.
Plastic adapter - 8 pcs.
Allen key - 1 pcs.

WMB-40277
143~

i Screw M6x30 - 4 pes.
(mmme Screw M8x45 - 4 pcs.

FOR MOUNTING TO THE WALL:

@

S

Dowel 10x50 - 3 pcs.
Screw 6x60 - 3 pcs.

(©)  Washer M8 - 3 pcs.

Plastic stub M6 - 3 pcs.




ARTICULATING TV WALL MOUNTS

WMO0-4023T

D

decorated with
plastic

cable management
@ VESA (min - max)

Diagonal
Maximum weight load (kg) 25
_||_ The distance from the wall (mm) 67-256

a Tilt angle
‘9 Turn

100x100 - 200x200
19-43"

-5°/+15°
180°/180°

Jmsizisi MOUNTING KIT

FOR MOUNTING TO THE TV:
Screw Méx12 - 4 pcs.
Screw M6x30 - 4 pcs.
Screw M8x45 - 4 pes.
Washer M4 increased - 4 pcs.
Plastic adapter - 8 pcs.

Allen key - 1 pcs.

FOR MOUNTING TO THE WALL:

~——  Dowel 10x50 - 3 pcs.
7 Screw 6x60 - 3 pcs.
(©)  Washer M8 - 3 pcs.

WMO0-4025T

plastic

m VESA (min-max)  100x100 - 200x200

Diagonal
Maximum weight load (kg) 25
_||_ The distance from the wall (mm) 67-528

a Tilt angle
@ Turn

19-43"

-5°/+15°
180°/360°/180°

o
iz MOUNTING KIT

FOR MOUNTING TO THE TV
Screw Mé4x12 - 4 pcs
Screw Mé6x30 - 4 pcs

i Screw M8x45 - 4 pcs
Q Washer M4 increased - 4 pcs
Plastic adapter - 8 pcs

Allen key - 1 pcs

FOR MOUNTING TO THE WALL

~  Dowel 10x50 - 4 pcs
" Screw 6x60 - 4 pcs
(©)  Washer M8 - 4 pcs

D

decorated with

~l(SL

cable management

y¥ vv v - -y

4+ 4+ o4

S R

L e R

4+ o+ >4
A A A & 4 4




_‘i=_|(5'|_® ARTICULATING TV WALL MOUNTS

WMO0-6245T WMO0-6245T

cable management cable management

B VESA (min - max) 200x200-400x400 @ VESA (min - max) 200x200-400x400

Diagonal 32-65" Diagonal 32-65"
Maximum weight load (kg) 40 Maximum weight load (kg) 50
_||_ The distance from the wall (mm) 110-565 _||_ The distance from the wall (mm)  120-475
a Tilt angle -5°/+15° a Tilt angle -5°/+15°
9 Turn 180°/360°/180° 9 Turn 180°/360°/180°

o o
miisisn MOUNTING KIT i MOUNTING KIT

FORMOUNTING TOTHETV: ~ FOR MOUNTING TO THE WALL: FOR MOUNTING TOTHETV: ~ FOR MOUNTING TO THE WALL:

W Screw M6x30 - 4 pcs. = Dowel 12x80 - 6 pcs. Screw Méx30-4pcs. -~ Dowel 12x80 - 6 pcs.

Screw M8x20 - 4pes. e Screw 8x80 - 6 pes. (i Screw M8x20 - 4pes. » Screw 8x80 - 6 pcs.

Screw MB8x45 - 4 pcs. ) (©) Washer M8 - 6 pcs. (y Screw M8x45 - 4pes. (©) Washer M8 - 6 pcs.
Plastic adapter - 8 pcs. Plastic adapter - 8 pcs.

K Allen key - 1 pcs. K Allen key - 1 pcs.

waa.
2 jerear

rY - v vy
R R =
(IR S = =
R R =

(R o = 2
A 4 4 4o A A A




@ ®
DESK MOUNTS -‘iIII(SI—

a VESA (min - max) 75x75-100x100

Diagonal 13-32"
Maximum weight load (kg) 10
[';j Tilt angle +35°
@ Turn 90°
f ] J) Screen rotation 90°

350

2
X}
‘—I/L/
fmssz MOUNTING KIT
Screw Méx10 - 4 pcs.
Allen key - 2 ps.
L Plastic clamp - 2 pcs.

90°

y¥ v v -
L s
4+ 4+
L e R
4+ o+ >4
A 4 & o o 4




DESK MOUNTS

m VESA (min - max) 75x75-100x100
Diagonal 13-32"

() . .
Maximum weight load (kg) 10
[:] Tilt angle +35°
9 Turn 180°/360°/180°
1 - o
] J) Screen rotation 90

350

16-85

MWWWI MOUNTING KIT

Screw M4x10 - 4 pcs.
Allen key - 2 pcs.
CA Plastic clamp - 4 pcs.

o




DESK MOUNTS .‘i=.|(s.l_®

m VESA (min - max) 75x75-100x100

Diagonal 13-28"
Maximum weight load (kg) 2x6

[:j Tilt angle +35°
&9 Turn 180°/360°/180°
( D )) Screen rotation 90°

350
90 - 370

110 - 450 '

o)
i MOUNTING KIT

Screw M4x10 - 8 pcs.
Allen key - 2 pcs.
O~ Plastic clamp - 6 pcs.

90°

AAAAA




~l(SL

200x200 - 600x400

m VESA (min - max)
Diagonal

.\ Maximum 80
m weight load (kg)

I Display
position (mm)

S Cable Management No

32-65"

Throughout the legs,
up to 189[][]

1868
1756

rv - v vwy
i o
[ g o o
e R o 2

[ o o
A 4 o 4o 4o A 4

m VESA (min - max)
Diagonal

L, Maximum
m weight load (kg)

I Display
position (mm)

1150...1270...1390...1479... 1630

FLOOR STANDS

TLY

100x100 - 400x400
23-50"

35
1150, 1270, 1390,
1479, 1630

No

200x200 - 600x400

m VESA (min - max)

Diagonal 32-65"

L Maximum 45
m weight load (kg)

Displa Throughout the legs,

|I posl?tio):l (mm) g up 1011951;

S Cable Management No

1518
1406




PROJECTOR MOUNTS

Ceiling Mount

-
: I , I._i-"\
3 '“-i'] _—-.f'l.. i =
== -l D5
L. Maximum 20
m weight load (kg)
S Cable Management Yes

[::j Tilt angle 0°-45°
L= um 20°

Extension poles

CMPR-EX40 400 MM

CMPR-EX60 600 MM

CMPR-EX80 800 MM
CMPR-EX100 1000 MM
CMPR-EX120 1200 MM
CMPR-EX140 1400 MM
CMPR-EX160 1600 MM
CMPR-EX1180 1800 MM
CMPR-EX200 2000 MM
CMPR-EX220 2200 MM

90..352

~l(SL
A

Wall Mount

0. Maximum
m weight load (kg)

Yes

l : , Tilt angle 0°-45°

Adjustable length

250

»90...

S~————""

\\\;\ ““

20°

332

YY-v -y
L

4+ 4+ >+
L o R
L e
A 4 & o o 4




@ ®
e lKGSL PROJECTOR MOUNTS
m Wall/Ceiling Mount

LI
ol .
~
...') -..
T,
U
2 ‘"A » o
4 -
S . )
MAX 20 KG
0. Maximum 10/20 N
weight load (kg) S
K\
S Cable Management Yes
m Tilt angle 0°-45°
s =&’ Gay >
9 Turn 20° & & T2
Adjustable length
CMPR-4-60 CMPR-4-100
L7
S
@@ ~
> ) :
&® % S
‘,\L ©
‘




CEILING MOUNTS .-i:.l(s.l_@
EIEA

3 i @3 VESA (min - max) 200x200 - 400x400

é Diagonal 32-55"

Mo g é

g |

|| DS ) 1308, 1428, 1948
S Cable Management Yes
[ ] Tilt angle 0°-15°
<= Turn 360°

YY1
L e
4+ ¢+
4+ 4+ o4
4+ >+
A 4 & o o 4




e SL ACCESSORIES

AV component Shelf RS100

AN

AN

Mini PC mount PK100

You can use it with any monitor or the DM series table mount

Shelves for floor stands

< 2
$ 7 Use for:

T / © Stands PS1, PS3
\/ "

SF-Avm

Use for:

SF-VC Stands PS1, PS3

370...550




-5l(SL

P 380442252907  +38 093510 69 99 @ info@ksl.ua
(Y 1380504116882  +38 066 35459 73 www.ksl.ua




